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Rabi Yishmoh’ail says; he should finish - T3 IR ORYRRS 929

Overview

X1°1r1 °272 °0Y °27 says that it is XYY ', who maintains that anything which is °nx
X9 is permitted. The X3 then cites the mwn regarding 191 7012m 0wi that if they
were ground °"\¥an one may finish it on naw, according to YRynAW® " (presumably
because the liquids are X7 °nX)." Our MmpoIn discusses the meaning of ', and
how we know that it is indeed >3 who maintains 17 9°9w X211 *NRT 227 95.

- >nawn 59 1793 KON NAYNY TID NYON PYDY 7598 199N *wreso
The explanation of 713" is that he is not required to remove the weights from
the "1 0w, before dark, but rather he may leave then the entire naw on the 1> ow.

nvoIn asks:
= N0 SNNT D UNYNY? 229 920 NI 225N PN 139299 NVD

The >''1 has a difficulty; how is it evident that ®Xy»w> '3 maintains anything

which comes by itself (X%9%2% "nx) -
= INVN 21N XY NAVAa 93y 199N

There is no nXvn 297 even if it is done on naw?
- “N9SM SAN N9 73N 1999 19U 59N 1539 920 NS ¥39 NIDIT

Perhaps >''1 agrees with 77''2 who permit even by these cases where it is not >nx
R -

- N2YPY 1297 NI DIV 1PO VPIT KDY
And the reason the 71w» here mentions P99, that is because of the novelty of
¥''1 that even if 30", the rule is 713 X%, however >3 can maintain M3 even if 10" X5!

" Once it was 7p0o™ the liquid keeps seeping out, it is X227 NX the entire naw, that is why >3 maintains 2. This
explains the view of w"2 that one may keep the beams of an olive press on the olives during naw, even though that it
is pressing on the olives to release the oil. The reason is because even if one does it 2°7°2 on N2w he will not be 211 a
nRwn, since it is X n °nX; it will flow regardless whether the beams are there or not. It is PXy»w> " who rules this
way, regarding 011 (where he says 73°) since it was P01 so it is X7 *nX, and this validates the ruling of w"2.
* This seems to be m» 7"72 "W,
? The juices will continue to be pressed out of the 121 D1 the entire naw. We are assuming (according to this ¥17°9)
that the reason why he may leave the 72°u on the W even on Naw, because it was 201 so it is X7°m» *nX (and therefore
if he would squeeze it 072 there would be no nXvr 21n); thus validating the reason of "2 by 7277 n*2 M7p.
* In the 73w» on 2, the 7"2 permitted many things like 121 1°7 7w and 121 10w W K, etc. All these cases are not
X211 10X (and one may certainly no do them on naw), and nevertheless they are 10 according to 7"3. Perhaps >
agrees with 71"2 and that is why he says 71>, Really "1 would maintain 23 even if >"wan opo»™ R, where it is not
X9n °nR, like 7"2 maintain. We cannot know that *"9 maintains that if >"1w2n 3901 there would be no nxun 2vn if he
squeezed them 2°7°2 on N2W.
> See ‘Thinking it over’ # 1.
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mooIn has an additional question:
- 591 N%39 N9 TINPY 17939 RY 99000 XY 98T NDPY 2297 919D MW

And furthermore it is astounding that »''1 who maintains 293> X% is not
according to @''2 and not according to 77''a!

moon answers and offers a different explanation of Mnx’:
= DAY DIN 90T 1391 T PN 199297 NN

And it is the view of the °''9 that 223" means that he should complete it and

eat (drink) the flowing juices from the 121 07 on naw -
- DINDS RNV 199THT PNHONY 1TV PPYNRY M1 XY

And this case of 121 21 is not like juices which flow from fruits by themselves,
which are forbidden to be drunk on n2¥ because we make an injunction out of

concern that perhaps he will squeeze the fruit on naw for juice, if we allow him to drink
the 1210 Tpwn -
= ND11 SNNT DIVN NNMIINT NOIN XD VIND? 1299N NN

However here it is permitted to drink the juice, because even if he will squeeze

the 191 0 on Naw, there is no n'': 79K, since it is flowing X927 (because he was
>"Yyan 1p0°0), this is the view of SRynw» 1 -
= INNY NH%2Y 199N 137 929 XYM INNT Y9 INYIY? »a9 92097 929V NN RNV

So now (that 713° means he can drink it) the X723 brings proper proof that '

maintains that whatever is X%>2% °nx it is fine even according to 2''s -
- 259 XY NAYA 1YY 3y INT 1199
Since if he would have done it on n2w (squeezing the 2v), he would not be

liable for a nxvm, since it is X927 DX -
=591 1’35 49294 nalrn 99009 T8V NY 9990 XY 99N7 NPy 229

And (even) ¥'' who rules 21723 RY, it is not necessary to remove the beam, since

¥"7 agrees with 77''3 that even something which is not X227 °nX is 9n to leave it on for naw -
= 951 12D 129N PNONRT 01N YTPYUN DIINRD 275 9990 NOW NON

Rather ¥" means that he should not finish in order to eat once naw began, for
the juice is MeN even according to’ 71''2 -

® The X"w1mn amends this to read, 977 N3 K21 Xnw 1% M3 (not 72’ "2 8 ).

" Even v"2 agree that if it is 707 (so it is X1 °nX) it is permitted to leave the wights on (like 7277 12 M7p), and it
is certainly permitted according to 71"2 (even if Jp0™ X9)!

¥ oxynw> 1 allows us to drink the juice of the w"vn Jpo™w oW, even though generally Yarw Ppwn are 110X, The
difference is that by 1210 Ppwn (where there was no >"1wan jp0°1) we forbid it because of a vIND RPW 77773, where
there will be a nXvr 21 (if one is LM on NAW); however here since it was 170" one may drink it, for even if he will
squeeze it 0°71°2 on nNaw there will be no NXvA 217, since it was *"Wwan Jpo™, so it is X271 °nX (therefore there is no
77m). This validates the view of w"2 that there is no nXvn 21 (even) for doing it 0>7>2 if it is X777 DX,

? According to ¥"9, even though 71"2 maintains that one may keep the weight on for naw, nevertheless even 71"2 agree
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- N9 NNT 22 HY GN RNNINT 203 N0IND 70T PNONT 1Y PPYN INYS
Like all other 212 pw» which are 990K to be drunk, for this 7wsno (of the ow
1P0°W) is also n'';1a MoK even though it is X992 onN.

According to this interpretation, >"7 maintains that one may drink the 121w Ppwn from the W
1?0 (since even if he will be 0°7°2 vmo there will be no nNXvA 21°1), while ¥"7 maintains one
may not drink the 1210 pwn from this 21 (for if he is 2>7°2 vMD there will be a nXvn 21°1). Both
agree that he may leave the nM1Mp on for naw.

mooIn offers another explanation of 173"
- Launnwn 0515 9919557 99 Y 1

And one can also say that he may complete the squeezing process with his

hands after dark (on naw) -
= ND 0792 DAN NP NPV XOHNX HIN 1192 19 NIT PRINNY 1T NHT

For this is not like our ;aw», where (even'’) 71''2 only permits leaving on the
bearing weight of the beam, but one may not put the beam on naw with his

hands, however here by "1 0w one may do so 0°7°2 according to >"1 -
- 13‘[”3V:l 9INTI NI*T PH0INN PNYI NoNY

Because here by 121 2 it is not lacking even crushing as the X7n3 states shortly -
= 11557 59001 YON 1) XD D192 VINDY INYNYS 229 Y9YT 11957 999Y 110 NNYN)

So now the X3 properly brings proof (that *»7 2sw X771 °nx), for since '
permits squeezing the 212 with the hands, and he does not make an injunction

out of concern because of 71297 "oy -
- “¥a5n913 X947 920 53 N9 590INNA )9 ON

This indicates that even by ;7127 5901 he also maintains that he is not 3577 if he
squeezed them with his hands —

mooin digresses:

that one may not drink the juices which come out on 2w, because of a vVI1O* Xnaw 77°12 (like all other 121w PPYWn).

1% According to ¥"9, the o of 1> w "1 o1, if one does it directly 2°7°2 on naw it is N"7» 7oK (and the same by
7277 n°2 M7p). This would be in disagreement with "2 that by 7277 n°2 N7 there is no NXYA 21°1 on NAW.

""" According to this view, *"7 maintains that if it was >"1wan jpo™ that it is flowing X2 (so not only is he permitted
to drink the juice, but in addition), he may complete the process and squeeze out the remaining juice with his hands
on N (since it is X711 °nX, it is 72°N57 0N to squeeze [and drink] it).

12 "1 also allows 7371 2 MMp.

" See 2,0>. The np1onn between ¥"7 >"1 is where the 2w went through the 79°7 process. The case of 727 n°2 NP,
however, is considered 127 »707n. Therefore since "2 maintains (according to 1172 °"7) that even by 737 *01n
(read 7277 N2 MM1P) there is no 211 for AV N, therefore w"2 maintain that it is permitted to have them remain for naw.
'4 17"932 *"1 maintains that if by 71977 "o (read 727 n°2 MMP) there would be a nXwvr 21°17 if squeezed 073, then °"
would not allow squeezing 717°nn3? 0>7°2 even by 773°7 1017 PR, for we would by 713°7 P01 UK M.
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- 63551519 1997 9DINMA INYNYS 3991 NP 591 IN3)
And later 2139 1 said that according to v''2 where it is 772°7 972 one is 27, if

he squeezed them with his hands -
- 171"101"\)3 ION %) KDY D792 9V 1P90INN PRYI 997 1999N)

But nevertheless where it is not lacking 737 (like o), it is permiited to
squeeze with the hands, and >"1 is not 713 on account of 75°7 P,

According to this interpretation, *" maintains that one may squeeze 2°7°2 on N2¥ the 121 01 that
was °"1van Jpo™, proving (according to 11"2°7) that even by 772°7 10, if one squeezes he will
not incur a DXV 217.

mooIN continues to explain that (also) according to this interpretation ¥"2a cannot follow v"~:
= 119%7 1990101 YON N7 )P90INN PRYA TONT 1125 NINN NI NPy 295 DaN

However (11"172 "1 agrees), "2 cannot follow the view of ¥''9, since ¥"7 forbids

squeezing the 01 in a case where it is 57297 199012 °8, because of 71337 10w -
$INNPY N%2Y NIVN DY NON 12 BN 7299059 1997 1990INNT Y91

We can infer that by 72°7 =0 (like 727 02 mMp) he is 291 a nXvn, so
therefore it would be =198 to leave the 727 n°2 MM when it becomes dark
according to w''3, who will only permit, if by doing it 2>7°2 there will be no nxun 2.

Summary
T3 can mean; a. leave the beams on ([>"wA] w17°9), b. drink the 1212 Ppwn ("), C.

squeeze on Naw ("W). According to MooIN the proof to w"a is only from b and c.

Thinking it over
1. mooIn argues that perhaps 2Xv»aw» ' maintains that M3 even if 1po KXY (like

1"1) and the only reason it says j?0°7 is to teach us the novelty that ¥"7 is 2°nnn

5 This is the view of 1v%x "1 (on 2,°) that *" cannot validate w"2.

16 Therefore there is no validation of w"3, since 7371 nN°2 mMp are considered 17277 1017 and "1 agrees that in such a
case he is NXvM 271, so there is no explanation why ¥"2 should permit it.

7 91998 1 does not agree with the rational of 11"92 "1 that if it would be 2»1 by 72°7 10w, then *"1 would not
permit it by 77377 1707 PX (the case of 2W); rather X" maintains that it is possible that by 713°7 1o (like Mp
7277 n°2) there is a nXvr 211, and nevertheless by 713°7 1707 7R (like o) it is N even 2°7°2 and we are not M.

'8 Presumably, 71v9% "1 will make the same argument according to the first >"2 w17 that when was 2" Xy ' to
drink, only by oW since it is 773°7 17017 1R so there is no n''7n 0*7°2 7V O NOK, however by 71377 oA (like N1P)
there will be an 0" 037°2 VN0 MOX.

9 1f by 713°7 101N X there is no NRY (it is only 712777 7OK), why should we be 7113 by 7277 10w» X (itis a 77
77m2)! We must therefore conclude that according to ¥"1 by 757 1107 there is a nkun 21n. [All can agree that there is
no 77°1 by 712°7 PI0MA PR unless by 713°7 17701 there is a NRLR 21°1, however 11"2° and X" can disagree whether it
would be permitted by i13°7 1011 X if by 713°7 17077 there is a nXvn 2117 (the view of X"7), or prohibited (57"27).]
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even if 1p91.” Seemingly we have two choices here; either to say that jpo was
written to teach us the 2n°7 of >, that since X271 °nX it is NI, or to teach us the
XN of ¥"9, that even if P01 it 1s MOX. Usually we say 7°7¥ X7°ni7 119, that the
Xin/ X71KR would rather teach us the power of the one that is 7°n» not the one that is
701X, why here does Md0IN assume that P07 was stated for the 7°m7, but not for
the pn?”!

2. w"2 explained their 077 for leaving on 727 n°2 MMP, since it is not 21°7 *7°2 *NK
nXon, meaning that if he would do it on 2w there would be no nXvn, but it would
certainly be MoX. The X1 rephrased this as "7 5w K271 NRT 7% 227 RN N7,
which seemingly means that it is 72°11n2% . According to [*"wA] w170 that Ty
means that he may leave the beams on naw (and that is the proof to w"1, we
understand that it 1s "»7 7°5W; however according to N1d0IN that 73> means he may
drink (or squeeze out the juice), and the proof is that there is no 0°7°2 7Y IO MOX
(even by n12°7 701n); how can we refer to that as "n7 7°9w, if there is an MOX
ik ravdee

3. What is the dispute between the first "1 and the %"¥; do they argue whether
0°7°2 7Yno is MM by oW, or does the "3 maintain that there is no sufficient
proof to w"2 according to the >"157?

20 See footnote # 5.
2l See 2w Ny PY.
2 See 2 b,
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